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CSA 2008 Safety Assessment Comparison Reviews - Initial Response
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Chart 1

contact

Safety QA Tool - Questions

Interview protocol
followed

If not, documented
reason for deviation
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Percent Achieved

CSA 2008 Safety Assessment Comparison Reviews - Impending Danger
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Percent Achieved

CSA 2008 Safety Assessment Comparison Reviews - Safety Evaluation
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Safety QA Tool - Questions
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Chart 5

CSA 2008 Safety Assessment Comparison Reviews-Safety Plans

1st Round; 8 assessments identified impending danger and 9 safety plans were established.
2nd Round; 5 assessment identified impending danger and 5 safety plans were established.
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Safety QA Tool - Questions

Note: **These questions use areverse scale
(LOWER NUMBER IS BETTER) as we want
workers to utilize the correct safety plan.




CSA 2008 Safety Assessment Comparison Reviews-Safety Plans

1st Round; 8 assessments identified impending danger and 9 safety plans were established.
2nd Round; 5 assessment identified impending danger and 5 safety plans were established.
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Chart 6

Note: **These questions use areverse scale (LOWER

Safety QA Tool - Questions NUMBER IS BETTER)




